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== sin cos tan

44° 10,6947 | 0.7193 | 0.9657
45" 10,7071 | 0,7071 | 1,0000
46° | 0,7193 | 0,6947 | 1,0355
470 10,7314 | 0,6820 | 1,0724

>
> X 1.0355

cos 46 ° = 0.6947
L x=146°
w}2hA] tan 46 ° = 1.0355 ©]tt.
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Zte sin cos tan

34° 0.5592 0.8290 0.6745
35° 0.5736 0.8192 0,7002
36° 0.5878 0.8090 0.7265

1) x=34°, y=0.8290 (2) 36.225

1) x=36° y=0.8142 (2) 34.235

1)
1)
(1) x=36° y = 0.872 (2) 36.215
(1) x=35° y=0.8192 (2) 40.45
1)

1) x=36°, y=0.802 (2) 36.95

z
2 36° = — = 0.8090
(2) cos 50
. z=>50x0.8090 = 40.45
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tanA =1%o, (2+sinA)(2—-cosA) & F2? (&, 0°<A<90°)
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tan4b° =1 ©°|B&2 /A =45°
(2 4 sin45°)(2 — cos 45°)
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16, tanA = AW, cosA + cosC ) & Fpoter,
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AC = V162 + 122 = V400 = 20
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., CH 3
sin 60 =% = 3

, AH 1
cos 60 =% =3
L AH=3

HB=10-3=7
~BC= /72 +(3V3)2 = V49 + 27 = V76 = 2V19
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